@ano @ o7 © G)oTe
@ o% @ ® @te

O @ : WHo] ZAols} 5 2 2w, ulA] g el Zo]7} 3

=] .
@ @ : "-eZte] 27171 40° , 90° & Z $F T o] Ao)7}
<




(1) @59 5 A4S 7|52 ehelet,

>

>

>

[> HE (1) AABC = AEFD
> &g (2) RHS

>

D ()60

/B = /F =90°AC = ED,BC = FD°|2& AABC = AEFD
(RHS %)
.. .EDF = /ACB =60°




—

=

&

a

J

1]

@)

A

=

4

ny

1]

o
- =3
) &
2 I
Cl @)
W 2
my = _F
E._ . D D o
o] W < I 12
~ o Il _mnu I
® o CHEN s g
__ﬂﬁ wﬂ ﬁle 3 E 3 & A
<2 o = 8 & 136
S G2 o3
H ﬁmﬂ cr e e e e N R R
o- = T T T B | [ &)
= RO RO RO oo N
mma ‘,_.ma ﬁm ’ D D D ~N °3
23T A A




4. The 3YelA 1= aABC | YAlolth /BIC = 120°% U,
BAL=( )9 27]E Fatefet,

A

120°

> Hehl 30

A 17F AABC O WA o, /BIC =90° + %on]E}.
HI7FA Wzte] ol 5249 wolez

/BIC = 120° = 90° + %ZA,

(A =/BAC=60°

- /BAI = %ABAC = % x60°=30°




5.

oS 289l A 1L A7 PQR 2 YAlolth P =30°Y o, x4y
o] Zk& +totH?

@® 60° @ 65° ® 70° @)75° ® 80°

1
A 17F APQR Q) AL o, /QIR = 90° + §AP o]t}

1 1
LQIR = 90° + 5 /P =90° + 5 x30° = 105° 0|},

T, A I7F A 9] Al Yzhe] o] FRA Y wyo|nE

/x = (PQI = /IQR, zy = /PRI = /IRQ°]|t}.

m2bA 2x+ 2y = ZIQR + ZIRQ )AL, 42+ WZhe] 9h2 180°
SIA=R=}

Lx+ 2y = /IQR + /IRQ = 180° - ZQIR = 180° — 105° = 75°




6. o2 I1™A H I+ aABC O WA4lolal, /A =86°Y ], LABI =
( )eoltt. ( ) QFof] &gk L~ Lstoiat,

A
0
86
gy I
BE e
20
> =
> ™eh: 27

A 17} AABC 9] A1 . /BIC = 90° + %onhc}.

1 1
ABIC:90°~|—§AA:90°—|—§x86°=133° o|c},

AF7+e o] Yizhe] g2 180°0] B2 /IBC = 180°—20°—133° =
27° o|t},

A 17 A2 o] Al e o] 58S nHO|ER /AIBC =
/ABI = 27°0]t},

. /ABI = 27°0°]|t},




7.

o2 2N A M 171 aABC o] WAL o, DE 9] Zdoj=? (¢
//BC)

@ 3cm @ 4cm ® 5cm @ 6cm @70111

=




8.

]CH

the 183} ZHo] AABC oA A €} C 9] o] 5EA
a1 5k A 12 #|uka AC of Balet 143 AB, BC
247} D,E 2t 8w, ABDE 9] S| o] do]= L5}olat,

o] W

guﬂ

> E cm
> HE . 14cm

% 17} WAlela DE//AC ¥ o,

(ABED 9] &3] Zo]) =BC + BA

ot} ABED © 519 26T 1om oI5k

mlo —



ohe TelA A 1 A2
Wyl BC 9 WA [ 4ol
Z

\VARR 4
0
it

1
i(a + b)r

WA I oA AE BC of] 18 418 YA Qo vtz = 9] Zo]9}
Zron g Althe]E BDEC 9] Eo]t o]t}

w2 AfetelE BDEC €] HolE J(a+ b)r oI,




10. o J9ollA L O &= AB = AC ¢l o] 584z 2o A, 2] of
¢x & 2715 F-shefzt

A
4

—

B&= 0

i
o

\VARR 4
0
i

15 °

AABC 9] e]4lo] H 0Y o,
%[BOC = /AR 2

/A =80°, /BOC = 160°©]|t}.
AABC O] YAlo] A 1 o,

%4A+90° = /BIC°o|E2
1
/BIC = > x 80° 4 90° = 130°°|T}.
AOBC & o|5HAMZHgolE 2 ,OBC = 10°°|th
&, /IBC = %AABC = % x 50° = 25° 0]t}

w24 LOBI = /ABC — £OBC = 25°—10° = 15° 0]t}




11. & ™84 AABC & /A = 50° ]2 AB = AC ¢l o] 5842+
ojtt. A0+ oA, A1+ WAY o, LOBI ¢ Z7]& Fotofet,

A
/\

/B = (180° - 50°)+2 = 65°
/BOC = 100° |2 &

/OBC = (180° - 100°)+2 = 40°
ABC = 65° + 2 = 32.5°

-, ZOBI = 40° - 32.5° = 7.5°




12, o3 T4 19" 0 = AB = AC <l o] 597
HL o 2x o] 2717

lo
=
o>

N\:36°

O 14° @)18° ® 20° @ 22° ® 24°

AABC 9] 9]4o]l - 0 4 o, %ABOC = /A O|B2 /A = 36°
, /BOC = 72° o]t}

1
AABC @] YAo] A 1Y o, §4A+90° = /BIC |22 /BIC =

1

3 36° + 90° = 108° o|t}.
AOBC & o|EHAZrdolB & /OBC = 54° o]t}

. JIBC — %AABC _ % « 72° — 36° o|th. walA LOBI —

L/OBC - /IBC = 54° — 36° = 18° o|t},




